BEE] £17TxE8E 508 -

85 1~15 BE :{Eﬂn:ﬁgg

=
BE

— ~ ELiERE -

LA 2D 3C 4C HA 6B TA 8C
98 1W0B 1B 12D 1BBA 4D 1KBB 16C
"B 18B 19D 2A

— ~ FEEARE -

2B 22C WD

=~ JEEEE -

18 21+3

B
— - EfpRE
L m=2"%x3"x5"x7
S.a=2'b=3'¢c=5'd=T'e=6'f=4°g=4>h=2
i (a+b+ctd) — (etf+g+h)
= (2+3+5+7) — (6+4+4+2) =1
2 a-3=0Hb+4=0
J.a=3Hb=—4
> agx3+hx4=3x3+ (—4) x4=9-16=-7

. 81 5 45 126 5
:7—»—-1——:———‘—‘
3 R 91 13 91 91 13
18 5 13
13 13 13
=4 5
g Y2 10 (x-4) -3 (y—5) =6
3 3
2x—B—3p+ 1856 =2~ =—~1
2x—3y+7  —1+7
g z S——=1

. A= [(6x" +x—10) —2] + (2x+3)
= (6 +x—12) + (2e+3) =3x—4
S.a=3h=-4
Wa-b=3-(-4) =7
b Tx=-3:y=—11KAL:y=mx—2
B-11=-3m—-2=>m=3
WEER L y=3x—2

=02%10°=2% [0 = h=2

" 5x10°

bh+a 10" (f&)

Tax107
9 R =>20x+5 (3x—1) =4 (7x—3)
= 20x+ 15x—5=28x— 12

=2 Tx=—T=x=—1
10 3x+6<k=3x<k—6
k—6

= X < 3 =—3=2k-6=-9

S ok=-3
kx+52—-4=-3x>-9=>x<3

11

12

13

14

15,

16.

17

18

19

20

""AB=BC* H AD=BC*® AB=CD
o dB=B0=0D=AD
= FITVUSB ABCD ERZEH

S— N -/ == 1
&ﬁﬁ@%%AMDEE=EXUXm=m8

x+d x—3 _x+5
3 6 2

2 {x+4) ~ le—3) €3 (& +5)

21T & —x +3<3x =15

—2x<4

= x>—2

A BWMHMEEES x=7 L
6+ (—14)

Ef:_él

L EFH TR R = —4
O~ D B OBEIRRES
8+ b
2
Wa—b=—4- (-16) =12
2 b

La=—4

——4=b=-16

WP*ijrmirQ=iVE©(ﬁ—ﬁ¥ﬂiJE3

5

=25 —20x+4=5h = 55 —4x + =0

5
o 4-b

tﬂ&ﬁﬁ%ﬁia=4ﬁs—§—=*3’b=l9

S.atbh=4+19=23

c=a+tT7>d=b—4

Ne+d=0
= (g+7) + (b—4) =0
.atb=-3

Va,—a,=5= (a,t6d) — (a,+3d) =5

s 3= 5

(a,+a5+a9) - (a4+a,,.+am)

= (g —dy) + Gas—a) + lay™ ay)

= (=3d) + (=3d) + (=3d) =3% (=5)==15

e RIITHIE R y - QRS 2y 2y

61~

@

B (2p)+y’=x -

L

1

5 5y2=x2 ::}y::?xz

2 2 2 5
CLEBATEHERE =2y xy=2)" -7

Bx=affA-7+3x-2x=0183a-2a=7
(4a—8) (3a+4) =12a"—8a—32
=4 (3a*—2a) —32
=4x7-32=-4

VCy=f(x) BETRE  BHf (3) =f(-3) Y
Soy=f(x) BEEEE

Y F(2019) <0 EFEWARTT —=1=

i 75E(D) _
Fx27=1=3"%x3"=1

_'_2x+3y:0 ............ @

4% 64" x 16 =32" = 27 x 2% x 2 =2¥
oo 28 Gy 4 =5y s @

HORK @/ x=-3y=2

il —~p=—ge2 =

(BRE17-1)



— - FEFARE ¢

91 ZDCB=180"—120°= 60° A D
{¥ DELBC 1 E B ‘«
e 38 a3 I\
b=y D= x 8 =4+/3 B E C
| | . -
ANAOD HITHFE = x SEATPUERTE ABCD WY TS
- «BExDE
4

I
=Ix12x4\f:12\/§

. 2017 2016 (1009.5)* = (1008.5)*
2RR = e Y 2018 ¥ 2018
- . (1009.5 + 1008.5) (1’009.5~1008.5)
2018 2018’
Lo L 20181
2018 2018
= x =1
2% BC=+/AC’—AB*=+/10"-8 =6 A
W D ¥EE DELAC i E B
HIDE=BD ("." AD B ZBAC WJAF1148) .
1 g« 1 1
- X8XBD+—-x10XDE=—-X8x%6 o

1 — ] — 1
% % X X = — % x
= 7 8 BD+2 10 x BD 5 8% 6

=B-2_2 D -a =
] 3 3 5

L

=~ IEEERE .
Hda=k*x3b>k+0
- 16
Ha=8b=2fRAFk=—
1
'.4a=36><3b - fla=4b

B 5bx2c=r*r=0
Bb=4°c=3RAEr=120
C.5hx2e=120" Bl be=12

. , 3
H"??a=6ﬁ)\a=4bfgfb=?

3 N A
H%b=gﬁj\bc=12fﬁ=c=8

“*AD=CD ' DP=D0
BZA=2C=90
SAADP = ACDQ (RHS Z%ME)
S AP=CQ = PB=QB=2/2+2=2
#®CO=x"RAICD=BC=2+x
fEACDQ
(24/2)*= (2+x)*+x
8=4+4x+x+x
X +2x—2=0
x=—1%+3 (BFRE)
S.CD=2+ (-1++/3)

=1++/3

% 1+/3

(BE=17-2)



